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LPC_SCT->EVENT[0].CTRL  = 0x00001010 ;
LPC_SCT->EVENT[0].STATE = 0xFFFFFFFF ;
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LPC_SCT->EVENT[1].CTRL  = 0x00001011 ;
LPC_SCT->EVENT[1].STATE = 0xFFFFFFFF ;state all

LPC_SCT->MATCH   [0].H = eVal_IntervalTimer ;
LPC_SCT->MATCHREL[0].H = eVal_IntervalTimer ;

state all

LPC_SCT->MATCH   [1].H = eVal_StartSample ;
LPC_SCT->MATCHREL[1].H = eVal_StartSample ;
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LPC_SCT->EVENT[2].CTRL  = 0x00006400 ;
LPC_SCT->EVENT[2].STATE = 0x00000001 ;
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LPC_SCT->EVENT[4].CTRL  = 0x00006400 ;
LPC_SCT->EVENT[4].STATE = 0x00000002 ;
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state 1
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eVal_IntervalTimer = (SystemCoreClock
	 	 	  / 5000) * 10 = 60000

eVal_StartSample (SystemCoreClock
	 	 	  / 5000) * 6 = 36000
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LPC_SCT->LIMIT_H = 0x0001 ; event : 0

LPC_SCT->EVEN    = 0x00000001 ; event : 0

LPC_SCT->START_L = 0x0002 ;

LPC_SCT->HALT_L  = 0x0011 ; event : 4, 0

LPC_SCT->LIMIT_L = 0x0014 ; event : 4,  2
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LPC_SCT->HALT_L  = 0x0011 ; event : 4,  0
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00 0000 000 0 00000 0 01 1 0001

00 0000 0 0 000000 0 00000 1 10

00 0 00000 1 10 01 0000 0

00 0 00001 1 01

LPC_SCT->EVENT[3].CTRL  = 0x0000D000 ;
LPC_SCT->EVENT[3].STATE = 0x00000001 ; state 0
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LPC_SCT->MATCH   [0].L = eVal_MinValue ;
LPC_SCT->MATCHREL[0].L = eVal_MinValue ;
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event : 3   only state change from 0 to 1


